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QUESTION 1

Which two reasons make mesh bonding systems most effective? (Choose two.) 

A. cover wide areas 

B. provide additional strength to floor structures 

C. provide low-impedance noise-equalizing paths 

D. create equipotential grounding systems 

E. most cost-effective approach 

Correct Answer: CD 

 

QUESTION 2

You are a called upon to troubleshoot connectivity problems to a network device on a production floor. You have used
ping and traceroute to verify that you cannot connect to the device from the management network. The network is
209.165.202.128/27 and the device has been given the IP address 209.165.202.158 and mask 255.255.255.224. You
have verified that you can reach the device with your computer connected to the same switch as the device. What could
be the cause of this problem? 

A. The device is set to the wrong subnet mask. 

B. The device is set to the wrong IP address. 

C. The device has no IP default gateway. 

D. The device is connected to a switchport in the wrong VLAN. 

Correct Answer: C 

 

QUESTION 3

What is the leading cause of fiber-optic link failure? 

A. contaminants 

B. crushed fiber 

C. poor testing practices 

D. bad connectors 

Correct Answer: A 

 

QUESTION 4
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A network administrator has subnetted the 172.16.0.0 network using a subnet mask of 255.255.255.192. A duplicate IP
address of 172.16.2.120 has accidentally been configured on a workstation in the network. The technician on the plant
floor must assign this workstation a new IP address within that same subnetwork. Which address should be assigned to
the workstation? 

A. 172.16.1.80 

B. 172.16.2.80 

C. 172.16.1.64 

D. 172.16.2.64 

E. 172.16.2.127 

F. 172.16.2.128 

Correct Answer: B 

 

QUESTION 5

A router is not operating as expected and the network administrator wants to verify that the router booted using the
correct IOS image. Which command should be used to determine which IOS is running on the router? 

A. show flash 

B. show version 

C. show memory 

D. show startup-config 

E. show config-register 

Correct Answer: B 
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